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B 5 -
BaEt- ﬁﬁﬁ{E(Student t - distribution) : t-distribution
_ Fi(v+1)/2) (Y2 4
If=fazr(v/2)«/_ ) ‘

EEE v = degree of freedom;

I'(8)= gamma function = Igoxe'le_’rdx; e=2.7182818284...
\ BfEa= 0.200 0.150 0.100 0.050 0.025 0.020 0.010 0.005
3 ty = 0.979 1.250 1.638 2.353 3.182 3.482 4.541 9.925
4 to = 0.941 1.190 1.533 2.132 2.776 2.999 3.747 4.604
5 te = 0.920 1.156 1.476 2.015 2.571 2.757 3.365 4.032
6 te = 0.906 1.134 1.440 1.943 2.447 2.612 3.143 3.707
7 te = 0.896 1.119 1.415 1.895 2.365 2.517 2.998 3.499
8 te = 0.889 1.108 1.397 1.860 2.306 2.449 2.896 3.355
9 te = 0.883 1.100 1.383 1.833 2.262 2.398 2.821 3.250
10 te = 0.879 1.093 1.372 1.812 2.228 2.359 2.764 3.169
11 te = 0.876 1.088 1.363 1.796 2.201 2.328 2.718 3.106
12 ty = 0.873 1.083 1.356 1.782 2.179 2.303 2.681 3.055
13 te = 0.870 1.079 1.350 1.771 2.160 2.282 2.650 3.012
14 te = 0.868 1.076 1.345 1.761 2.145 2.264 2.624 2.977
15 te = 0.866 1.074 1.341 1.753 2.131 2.249 2.602 2.947

ES ﬁ[luf%@ﬂfuj:%%ﬁﬁh:{ ZHE HERWEAXRSHEEZIZLUE -

= 85 9 #fo {5 (Normal distribution) :

-7 Jl_ 052 g 6= TI80818284...

Zo = —3.5 —3.4 —3.2 —3.0 —2.8 —2.6 |—2.575| —2.4 |—2.326
HEA=| ~0.0 | 0.0003 | 0.0007 | 0.0013 | 0.0026 | 0.0047 | 0.005 [ 0.0082 0.01

Z0 = —22 |—2.170| —2.054| —2.0 [—1.960|—1.881| —1.8 |—1.751|—1.645
B A= 0.0139 | 0.015 0.02 . | 0.0228 | 0.025 0.03 0.0359 0.04 0.05

Zo = —1.6 |—1.476| —14 |—1.341|—1.282| —1.2 —1.0 |—0.842| —0.8
HiE A =] 0.0548 0.07 0.0808 0.09 0.10 0.1151 | 0.1587 0.20 0.2119

Zo = —0.6 |[—0.524| —0.5 —0.4 —03 |—0253| —0.2 —0.1 0.0
HE A=] 0.2743 0.30 0.3085 | 0.3446 | 0.3821 0.40 0.4207 | 0.4602 | 0.500

it - WETEEIFM ERBATREZEIE - HESNEERKGHEEEZEOME -




505101 2 > x4 %
BB ARAR2I109LsEmmELliigsRE

RAraR) BREIRABALIHET A

#t B TfE%H

(%8575 100 43)

7 53 % {H(Chi-Squared distribution)

a=1-— §§0ﬁ+xV/2_le_x/2dx
2Y12T(v)2)
I5E v = degree of freedom; 9,3
I'(8) = gamma function = [° x e dx; e =2.7182818284... Fan
0 X¢2z X
E R
=3 0.005 0.01 0.025 0.05 0.1 0.9 0.95 0.975 0.99 0.995
1 7.879 6.635 5.024| 3.841 2.706] 0.016] 0.004 0.001 0.000 0.000
2| 10.597 9.210 7.378 5.991 4.605 0.211 0.103 0.051 0.020 0.010
31 12.838] 11.345 9.348 7.815 6.251 0.584 0.352 0.216 0.115 0.071
41 14.860| 13.277| 11.143 9.488 7.779 1.064 0.711 0.484 0.297 0.207
5| 16.750] 15.086/ 12.833| 11.070 9.236 1.610 1.145 0.831 0.554 0.412]
6] 18.548] 16.812] 14.449| 12.592] 10.645 2.204 1.635 1.237 0.872 0.676
71 20.278] 18.475] 16.0131 14.067| 12.017] 2.833 2.167 1.690 1.239 0.989
81 21.955| 20.090] 17.535| 15.507| 13.362] 3.490| 2.733 2.180 1.646 1.344
9] 23.589| 21.666] 19.023| 16.919| 14.684] 4.168] 3.325 2.700, 2.088 1.735
100 25.188] 23.209] 20.483] 18.307| 15.987 4.865 3.940 3.247 2.558 2.156
11| 26.757| 24.725| 21.920| 19.675| 17.275 5.578 4.575 3.816 3.053 2.603
12| 28.300f 26.217| 23.337| 21.026] 18.549 6.304 5.226 4,404 3.571 3.074
13| 29.819] 27.688] 24.736| 22.362| 19.812 7.042] 5.892 5.009 4,107 3.565
14] 31.319] 29.141] 26.119] 23.685| 21.064 7.790 6.571 5.629 4.660 4.075
15| 32.801| 30.578] 27.488] 24.996| 22.307 8.547 7.261 6.262 5.229 4,601
16| 34.267| 32.000| 28.845| 26.296] 23.542 9.312 7.962 6.908 5.812 5.142
17} 35.718] 33.409{ 30.191| 27.587] 24.769] 10.085 8.6721 7.564 6.408 5.697
18] 37.156] 34.805| 31.526| 28.869] 25.989] 10.865 9.390 8.231 7.015 6.265
19| 38.582| 36.191| 32.852| 30.144] 27.204| 11.651] 10.117 8.907 7.633 6.844
20| 39.997| 37.566| 34.170| 31.410] 28.412| 12.443| 10.851 9.591 8.260 7.434
211 41.401| 38.932| 35.479| 32.671| 29.615| 13.240f 11.591| 10.283 8.897 8.034
22| 42.796| 40.289| 36.781| 33.924] 30.813| 14.041| 12.338] 10.982 9.542 8.643
23| 44.181] 41.638] 38.076] 35.172| 32.007| 14.848| 13.091] 11.689| 10.196] 9.260|
24| 45.559| 42.980| 39.364| 36.415| 33.196| 15.659| 13.848| 12.401| 10.856| 9.886
25| 46.928| 44.314| 40.646] 37.652| 34.382| 16.473| 14.611| 13.1200 11.524{ 10.520
26| 48.290| 45.642| 41.923| 38.885] 35.563| 17.292| 15.379| 13.844| 12.198! 11.160
27 49.645| 46.963| 43.195| 40.113| 36.741| 18.114| 16.151] 14.573| 12.879{ 11.808
28| 50.993| 48.278| 44.461| 41.337] 37.916| 18.939| 16.928] 15.308| 13.565| 12.461
29| 52.336| 49.588| 45.722| 42.557] 39.087| 19.768| 17.708| 16.047| 14.256] 13.121
30] 53.672| 50.892| 46.979| 43.773] 40.256| 20.599| 18.493| 16.791] 14.953| 13.787
40| 66.766| 63.691| 59.342| 55.758| 51.805] 29.051] 26.509] 24.433| 22.164] 20.707
50| 79.490] 76.154] 71.420| 67.505| 63.167| 37.689| 34.764| 32.357| 29.707| 27.991
60| 91.952| 88.379| 83.298] 79.082| 74.397| 46.459| 43.188| 40.482| 37.485| 35.535
70| 104.215| 100.425| 95.023| 90.531| 85.527| 55.329] 51.739 48.758| 45.442| 43.275
80] 116.321]112.329| 106.629| 101.879| 96.578| 64.278| 60.391| 57.153| 53.540| 51.172
90] 128.299| 124.116] 118.136| 113.145| 107.565| 73.291| 69.126| 65.647| 61.754] 59.196
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Critical values of the F-Distribution

U
Vv,

r[(vl + Vz‘)/z:] (VI/V2 )V'/z fv,/z—l
h(f) - r(vl /2)P(V2/2) (1+V1f/vz)("l““'i)f2 ?

0, elsewher

0<f<w

Jo.os(v1, 1)
Vi
= 1 2 3 4 5 6 7 8 9 10
L | 161.45 | 199.5| 215.71 | 224.58 | 230.16 | 233.99 | 236.77 | 238.88 | 240.54 | 24188
2 | 1851 | 19.00] 19.16] 1925] 1930 | 1933 | 19.35] 1937 | 1938 1940
3 10.13 9.55 9.28 9.12| 9.01 8.94 | 8.89 8.85 8.81 8.79
4 7.71 6.94 659 639 6.26 6.16 | 6.09 6.04 6.00 | 596
5 6.61 5.79 5.41 519 |  5.05 495 | 488 482 477 474
6 5.99 514 4.76 | 4.53 439 428 421 4.15 410 | 4.06
7 559 | 474| 435] 412 397 387| 3.79| 373 3.68 3.64
8 532 446 4.07| 384| 3.69| 358 350| 3.44| 339 335
9 5102| 426 | 3.86| 3.63 348 337| 3.29| 3.23 3.18| 3.14
10 496 | 4.10 3.71 3.48 | 3.33 322 3.14| 3.07| 3.02| 293
JSoor(vi, »)
!
6 1 2 3 4 3 6 7 8 9 10
L_14052.20/4999.50| 5403.35 |5624.58 |5763.65 |5858.99 |5928.36 |5981.07 |6022.47 16055 85
2 | 9850 | 99.00 | 99.17| 99.25| 9930 | 9933 | 99.36| 9937 9939 9940
3 | 3412 | 3082 | 2946 | 28.71| 2824 | 27.91| 27.67| 27.49| 2735| 2723
4 | 2120] 1800 | 16.69| 1598 1552 | 15.21 | 14.98 | 14.80 | 14.66 | 1455
> | 1626 | 13.27 | 12.06| 11.39] 10.97 | 10.67 | 10.46| 1029 | 10.16 | 1005
6 | 13.75 | 10.92 9.78 9.15 8.75 8.47 8.26 8.10 7.98 7.87
7 |1 1225 9.55 8.45 7.85 7.46 7.19 6.99 6.84 6.72 6.62
8 | 1126 | 8.65 7.59 7.01 6.63 6.37 6.18 6.03 591 5.81
9 ] 1056 | 8.02 6.99 6.42 6.06 5.80 5.61 5.47 535 5.6
10 | 10.04 | 7.56 6.55 5.99 5.64 5.39 5.20 5.06 4.94 4.85




